—. L
(1

) i
@ i

COM-BTO0-C3 B ] 44 Fi, 25 18 TH TR}
& T BT0-2.06 A LL F A

WM Modbus-RTU 3, SCHF 03 B:HLAT4, 06 &% 10 5 A2
W7 BT UK RS485 Sl R ATIlAE .

WFSE. 2400, 4800, 9600, 19200 A (L) ERiA 9600).
FAEER R L ALEWGA+8 AR AL+ R IR AL +1 15 1A .

(3) — Ui 18 5.

— ZHoER (BUR PR NS5

2 P Ae bk AR ALE H iy JE
10 il 16 3t
AR 0 0000H =0 N rdy IRZES (HEH) R/W
=1 N\ END IRZE (45530
=2 FNBITRE 21D
B — BTN BT unl/ 1 0001H = 8 A T AL UNL: RIW
/INE A dpl =0 Fp, =14%F, =2 /N
ik 8 52 FH /NS dpl
=0, =1, =2
KA 16 A B A B AR
P IE /N =0
1 /=1
b 2 =2
5y TorN =256
55 1 /NE=257
91 2 /NE=258
/BT /N =512
NI 1 /=513
/NI 2 /N =514
55— Bt i BAr un2/ 2 0002H i 8 A T H AL UN2: RIW
/INE A dp2 =0 Fp, =105, =2 /N
i 8 7 FH T/ dp2
=0, =1, =2
55 = Beit i B und/ 3 0003H i 8 A T HL AL UN3: RIW
/INE A dp3 =0 Fp, =14p%l, =2 /N
i 8 7 FH T/ dp3
=0, =1, =2
2 VU B Ui B2 und/ 4 0004H 5 8 A T 547 UN4: R/W
/NS dpd =0 Fb, =135, =2 /N
ik 8 12 FH TN dp4
=0, =1, =2
Ak A 5h D1/ 5 0005H & 8 AT D1: Vil 0-4 RIW

S 1 = AL D2

ik 8 fZ T D2: il 0-2




L HIZ{TI)EE ACT/ 6 0006H = 8 AL+ ACT: R/W
T2 7B RUN =0 FHHESIRDS, =1 FHIsfT
ik 8 A2+ RUN:
=0 1EiFEF, =1 {3t

i [a]12 1T B PRP/ 7 0007H = 8 LT PRP: il 0-4 R/W
END JIRASH #%i i PRO ik 8 i T PRO: & 0-15

— B HIIREPRY | 8 0008H = 8 AT PR1: VG 0-15 R/W
M 21H GO1 ik 8 i T GO1: JulH 0-4
BB HEAIRES PR2/ |9 0009H = 8 i T PR2: Jil# 0-15 RIW
P2 1H) GO2 ik 8 i T GO2: il 0-4
BBk ARIRAS PR3/ | 10 000AH = 8 i T PR3: Jil# 0-15 RIW
7217 GO3 ik 8 i T GO3: il 0-4
UYLk BRI PRA/ | 11 000BH = 8 ST PR4: i 0-15 R/W
FEF 2 M GO4 ik 8 7T GO4: Ti[HE 0-4
T E1TE 12 000CH 0-999 R
VYR 13 000DH bR R/IW

=1 BT A e fE 14 000EH 0-999 R/W
5 2 B R e (H 15 000FH 0-999 RIW
2 3 B e v e E 16 0010H 0-999 RIW

= 4 BT A3 e fE 17 0011H 0-999 R/W

ME— s mRE RS KT Hihik Yy 000DH

A
bit0: OP1 8/~ 4T
=145, =0%K

FHEER TR R A

bit1:0P2 $5/~AT

bit2: OP3 8/~ 4AT

bit3: OP4 f8/~4T




